60-s bins
1.0 A
0.5
0.0 T T T
00.000 _ 15:00.
2013'0“'03“;03% o 311600% 04-03718:00
Time (utc)
60-s bins
1.0 A
0.5
0.0 T T T
00.000 :00.
2023-0A—03T12Aog% 0‘1—03“6 o 3.04-03T1% 00
Time (utc)
60-s bins
1.0 A
0.5
0.0 T T T
00.000 . 16:00.
2013-04—03T12Aog% 0A—03Tlﬁ 9306037180

Time (utc)

000

000

000

Latitude

Latitude

Latitude

90901614002 FPMA: No SAA Filter

23.11-ks, 100%

5.0 42 T
. [*= - -~ __._,,-
2.5 H L o
o~ & -~
0.0 H b 2
-2.5 "
-5.0 - e
T T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=1 -saamode=0PTIMIZED --tentacle=no 23.06-ks, 100%
5.0 ) -
2.5 H 4
-
0.0 H
—-2.5
—5.0
T T T T
0 150 200 250 300 350
Longitude
--saacalc=1 -saamode=O0PTIMIZED --tentacle=yes 23.06-ks, 100%
5.0
2.5 o .
- P
0.0 H b 2
-2.5 "
-5.0 -

150 200
Longitude

T T
300 350

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
1.0
3
3
2
=}
0.5 S
0.0 T T T
.00 000
023-04_03_\, (_)0A-03T16A00 00 3718:00 00
Time (utc)
60-s bins
1.0
3
3
2
=}
0.5 S
0.0 T T T
:00.000 0:00.0 0: 00.000
03T1A0057 431160 T18:0
023-04-03 2023-04 03 2023-04 3
Time (utc)
60-s bins
1.0
3
3
2
=}
0.5 S
0.0 T T T
0:00 00.0 00.000
202308 03714 7_3 04 0311 0023 1 18:00:

Time (utc)

90901614002 FPMA: No SAA Filter

23.11-ks, 100%

= e
5.0 e ]
o -
T e
2.5 i A
., e
0.0 H .
-2.5 T N,
-5.0 - -
T T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=1 -saamode=STRICT --tentacle=no 21.75-ks, 94%
5.0 4 ]
= R -~
2.5 o o .
", _I.-' ‘_.-' _.-'
0.0 H .
-2.5 T N,
-5.0 - -
T T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=1 -saamode=STRICT --tentacle=yes 21.75-ks, 94%
5.0 .r";-- ,:-f?
R -~
2.5 o o .
", _I.-' ‘_.-' _.-'
0.0 H .
-2.5 T N,
-5.0 - -
T T T T T T
0 50 100 150 200 250 300 350
Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
1.0
3
2
=}
0.5 8
0.0 T T T
0.000 0.0 0.000
023-04-03T 04-03716:0% 2 3118 00:0
Time (utc)
60-s bins
1.0
3
2
=}
0.5 8
0.0 T T T
0.000 0.0 0.000
02308037 04031650 2 meeo?
Time (utc)
60-s bins
1.0
3
2
=}
0.5 8
0.0 T T T
0:00 00.0 00.000
20230 03714 7_3 04 031 0023 1 18:00:

Time (utc)

90901614002 FPMA: No SAA Filter 23.11-ks, 100%

= e
5.0 e )
o -
P
2.5 A A
., e
0.0 H .
-2.5 T N,
-5.0 - -
T T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=2 -saamode=0PTIMIZED --tentacle=no 23.11-ks, 100%
5.0 4% R
o L -
b -
2.5 A A
., e
0.0 H .
-2.5 T N,
-5.0 - -
T T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=2 -saamode=O0PTIMIZED --tentacle=yes 23.11-ks, 100%
it
5.0 T ]
T
-
2.5 A A
., e
0.0 H .
-2.5 T N,
-5.0 - -
T T T T T T T
0 50 100 150 200 250 300 350
Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
1.0 1
3
3
=
=}
0.5 8
0.0 T T T
.00.000  _ 1.00.000  4.00.000
023_04-03T1“;’&g_omoﬂm;’(?2'2_04-03118~°°’°
Time (utc)
60-s bins
1.0 1
3
3
=
=}
0.5 8
0.0 T T T
1000
023-04-03TH40 zg o8- 03T‘— 00220 3T 18:00:00
Time (utc)
60-s bins
1.0 1
3
3
=
=}
0.5 8
0.0 T T T
0:00 00.0 00.000
1023040373 7_3 04 03T 16 002 3.0 T 18:00:

Time (utc)

5.0

2.5

0.0

-2.5

-5.0

5.0

2.5

0.0

-2.5

-5.0

b
o

N
w

o
<)

|
N
(S

|
w
o

90901614002 FPMA: No SAA Filter 23.11-ks, 100%

]
T
; o
- ._.-"" __‘- _._.-'
™, P
. =Y
T T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=2 -saamode=STRICT --tentacle=no 21.45-ks, 93%
]
T
- . r""
AN _I.-:= ‘_.-' ’ .-'-
. =Y
T T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=2 -saamode=STRICT --tentacle=yes 21.45-ks, 93%
= ]
T
- . r""
'-u_‘ r d ‘_.-' ’ .-'-
. =Y
T T T T T T T
0 50 100 150 200 250 300 350
Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
1.0
3
2
=}
0.5 8
0.0 T T T
0.000 0.0 0.000
023-04-03T 04-03716:0% 2 3118 00:0
Time (utc)
60-s bins
1.0
3
2
=}
0.5 8
0.0 T T T
0.000 0.0 0.000
02308037 04031650 2 meeo?
Time (utc)
60-s bins
1.0
3
2
=}
0.5 8
0.0 T T T
0:00 00.0 00.000
20230 03714 7_3 04 031 0023 1 18:00:

Time (utc)

90901614002 FPMA: No SAA Filter 23.11-ks, 100%

= e
5.0 e )
o -
P
2.5 A A
., e
0.0 H .
-2.5 T N,
-5.0 - -
T T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=3 -saamode=0PTIMIZED --tentacle=no 23.11-ks, 100%
5.0 4% R
o L -
b -
2.5 A A
., e
0.0 H .
-2.5 T N,
-5.0 - -
T T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=3 -saamode=O0PTIMIZED --tentacle=yes 23.11-ks, 100%
it
5.0 T ]
T
-
2.5 A A
., e
0.0 H .
-2.5 T N,
-5.0 - -
T T T T T T T
0 50 100 150 200 250 300 350
Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
1.0 1
3
3
=
=}
0.5 8
0.0 T T T
.00.000  _ 1.00.000  4.00.000
023_04-03T1“;’&g_omoﬂm;’(?2'2_04-03118~°°’°
Time (utc)
60-s bins
1.0 1
3
3
=
=}
0.5 8
0.0 T T T
1000
023-04-03TH40 zg o8- 03T‘— 00220 3T 18:00:00
Time (utc)
60-s bins
1.0 1
3
3
=
=}
0.5 8
0.0 T T T
0:00 00.0 00.000
1023040373 7_3 04 03T 16 002 3.0 T 18:00:

Time (utc)

5.0

2.5

0.0

-2.5

-5.0

5.0

2.5

0.0

-2.5

-5.0

b
o

N
w

o
<)

|
N
(S

|
w
o

90901614002 FPMA: No SAA Filter 23.11-ks, 100%

]
T
; o
- ._.-"" __‘- _._.-'
™, P
. =Y
T T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=3 -saamode=STRICT --tentacle=no 21.45-ks, 93%
]
T
- . r""
AN _I.-:= ‘_.-' ’ .-'-
. =Y
T T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=3 -saamode=STRICT --tentacle=yes 21.45-ks, 93%
= ]
T
- . r""
'-u_‘ r d ‘_.-' ’ .-'-
. =Y
T T T T T T T
0 50 100 150 200 250 300 350
Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



